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P - III (1+1+1) G / 20 (N)

2020

GEOGRAPHY (General)
Paper Code : VII-A & B

(Regional Geography of India)
[New Syllabus]

Full Marks : 50 Time : Two Hours

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one of these
alternatives is ‘CORRECT’ answer. The candidate has to write the Correct
Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No. in the Answer
Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : VII - A

Full Marks : 15 Time : Thirty Minutes

Choose the correct answer.
Each question carries 1 mark.

1. Which is source point of Luni river —

(A) Kodu valley

(B) Pushkar valley

(C) Rose valley

(D) None of these

1Ð œ%!˜ ˜”#îû vþzêþ™!_ßþiœ £œ éôôôé

(A) ö„þyv%þ ¦þÄy!œ

(B) þ™%Ÿ„þyîû ¦þÄy!œ

(C) öîûy‹ ¦þÄy!œ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

2. What is the meaning of Kaveri?

(A) Holy River

(B)  Beautiful river

(C) Fruits Garden

(D) Dead river

2Ð „þyöìîîû# Ÿöì·îû xíÅ £œ éôôôé

(A) þ™!îe ˜”#

(B) ¢%̈ îû ˜”#

(C) šþöìœîû îy†y˜

(D) ›,“%þÄ›ëû# ˜”#
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3. Mangrove forest are found in —

(A) Plain region

(B) Narrow Coastal Areas

(C) Creeks

(D) Continental shelf region

3Ð ¦þyîûöì“þîû ö„þy˜ xMþéöìœ ›Äy˜öì@ùÌy¦þ î˜¦)þ!› ö”…y ëyëûÚ

(A) ¢›¦)þ!› xMþéöìœ

(B) ¢‚„þ#’Å vþzþ™„)þœî“Åþ# xMþéöìœ

(C) …y!vþü ë%_« ö›y£˜y xMþéöìœ

(D) ›£#öì¢yþ™y˜ xMþéöìœ

4. Which reasons are responsible for Rajasthan desert —

(A) Role of Luni river

(B) Location of hill

(C) Dryness of Desert

(D) Absence of plants

4Ð îûy‹ßþiy˜ ›îû&¦)þ!› ¢,!ÜTîû ‹˜Ä éôôôé

(A) œ%!˜ ˜”#îû ¦)þ!›„þy

(B) þ™îÅöì“þîû xîßþiy˜

(C) ›îû&¦)þ!›îû ÖÜñ“þy

(D) î,Çþ£#˜ ²Ì•y˜ „þyîû’

5. Which climate called Indian savana —

(A) Humid Deciduous

(B) Montane Grass

(C) Dry Deciduous

(D) Mangroves

5Ð ¦þyîûöì“þîû ¢y¦þy˜y ö„þy˜ ‹œîyëû%öì„þ îœy £ëû éôôôé

(A) xyoÅ þ™’Åöì›y‰þ#

(B) þ™yîÅ“þÄ “,þ’

(C) ÖÜñ þ™’Åöì›y‰þ#

(D) ›Äy˜öì@ùÌy¦þ
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6. Which is the first river project —

(A) Bhakra Nangal

(B) Hirakud

(C) Mayurakshi

(D) Damodar

6Ð ¦þyîûöì“þîû ²Ìí› ˜”# þ™!îû„þÒ˜y ö„þy˜!ÝþÚ

(A) ¦þy„þîûy ˜yDyœ

(B) £#îûy„%þ”

(C) ›ëû%îûyÇþ#

(D) ”yöì›y”îû

7. Where was establish first jute mill in India —

(A) Rishra in West Bengal

(B) Cuttak

(C) Bhagalpur

(D) Gushri

7Ð ¦þyîûöì“þîû ²Ìí› þ™yÝþ„þœ ö„þyíyëû ßþiy!þ™“þ £ëû éôôôé

(A) þ™!Øþ›îöìDîû !îû¡ìvþüyëû

(B) „þÝþöì„þ

(C) ¦þy†œþ™%öìîû

(D) ‡%¢%!vþüöì“þ

8. What is green power —

(A) Fossil fuel resources

(B) Thermal power

(C) Non-Conventional power

(D) None of these

8Ð ¢î%‹ Ÿ!_« „þyöì„þ îöìœÚ

(A) ‹#îyÙÂ ‹µyœy!˜ ¢Á™”

(B) !î”%Äê Ÿ!_«

(C) x!‰þîûy‰þ!îû“þ Ÿ!_«

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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9. What percentage of Indian land under irrigation

(A) 24%

(B) 38%

(C) 47%

(D) 68%

9Ð ¦þyîûöì“þîû ö›yÝþ „,þ!¡ì ‹!›îû „þ“þ Ÿ“þy‚Ÿ ‹œ ö¢öì‰þîû xhsþ†Å“þ éôôôé

(A) 24%

(B) 38%

(C) 47%

(D) 68%

10. Which is called Predominant industry

(A) Iron Industry

(B) Engineering industries

(C) Petrochemical industries

(D) Food Processing industries

10Ð vþz”#ëû›y˜ !ŸÒ „þyöì„þ îöìœ éôôôé

(A) £zßþ™y“þ !ŸÒ

(B) £z!O!˜ëûy!îû‚ !ŸÒ

(C) öþ™öìÝþÆy îûy¢yëû!˜„þ !ŸÒ

(D) …y”Ä ²Ì!e«ëûy„þîû’ !ŸÒ

11. How many types of climate exist in India based on Koppen —

(A) 8

(B) 9

(C) 10

(D) 11

11Ð ö„þyöìþ™öì̃ îû ›öì“þ ¦þyîûöì“þ ö›yÝþ „þ“þ ²Ì„þyîû ‹œîyëû% ö”…y ëyëû éôôôé

(A) 8 !Ýþ

(B) 9 !Ýþ

(C) 10 !Ýþ

(D) 11 !Ýþ
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12. Which is most flood prone region in India —

(A) Uttar Pradesh

(B) Bihar

(C) Assam

(D) Tamil Nadu

12Ð ¢îÅy!•„þ î˜Äy²Ìî’ xMþéœ ö„þy˜!Ýþ éôôôé

(A) vþz_îû²Ìöì”Ÿ

(B) !î£yîû

(C) x¢›

(D) “þy!›œ˜yvþY

13. Which is the most responsible for deforestation —

(A) Jhum cultivation

(B) Economic Lumbering

(C) Pasturing

(D) Forest Fire

(E) All of these

(F) None of these

13Ð î˜¦)þ!› £Éyöì¢îû „þyîû’ !„þÚ

(A) G%þ› ‰þy¡ì

(B) xíÅ÷ì̃ !“þ„þ „þyàþ ¢‚@ùÌ£

(C) þ™Ö‰þyîû’

(D) ”yîy˜œ

(E) ¢î„þ!Ýþ£z

(F) ö„þyöì̃ y!Ýþ£z ˜ëû
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14. According to Champions, forest divided into how many types —

(A) 120

(B) 116

(C) 110

(D) 200

14Ð ‰þÄy!Á™ëûy˜ ¦þyîûöì“þîû î˜¦)þ!›öì„þ „þëû!Ýþ ¦þyöì† ¦þy† „þöìîûöìŠé éôôôé

(A) 120

(B) 116

(C) 110

(D) 200

15. Which is the meeting place of river Alaknanda & Mandakini —

(A) Rudraprayag

(B) Devprayag

(C) Chandraprayag

(D) Himprayag

15Ð ö„þy˜ ßþiyöì̃  xœ„þy˜¨y ç ›¨y!„þ˜# !›!œ“þ £öìëûöìŠé éôôôé

(A) îû&o²Ìëûy†

(B) ö”î²Ìëûy†

(C) ‰þw@ùÌ£’

(D) !£›²Ìëûy†

——————
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P - III (1+1+1) G / 20 (N)

2020

GEOGRAPHY (General)
Paper Code : VII-B

(Regional Geography of India)
[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - I

Answer any two questions : 10×2=20

1. What is agriculture? Discuss the salient features and problems of Indian Agricultural
system.

2. Evaluate the economic significance and future prospect of non-conventional energy.
In which areas of the India there is enormous possibility of using this energy and why?

3. Describe the geographical factors of population density and distribution.

4. What is industrial region? Discuss the characteristics and distribution of petro-chemical
industry in India.

Section - II

Answer any three questions : 5×3=15

5. Classify Indian language and describe with suitable example.

6. Explain why coal is considered as prime factor of modern industries.

7. What are the Methods of Conservation of forests?

8. Classify Indian forest and briefly described it.

9. Discuss the consequences of linguistic region on cultural life.

10. Discuss the problems and future of Santhals tribes.



Page : 10 of 10

îDy˜%îy”

!î¦þy† éôé „þ

öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 10×2=20

1Ð „,þ!¡ìîû ¢‚Kþy ”yçÚ ¦þyîû“þ#ëû „,þ!¡ìîû ÷î!ŸÜTÄ ç ¢›¢Äy=öìœy xyöìœy‰þ˜y „þîûÐ

2Ð x!‰þîûy‰þ!îû“þ Ÿ!_«îû xíÅ÷ì̃ !“þ„þ “þyêþ™ëÅ ç ¦þ!î¡ìÄê ¢½þyî˜y ¢Á™öì„Åþ ›)œÄyëû˜ „þöìîû ~£z Ÿ!_«
¦þyîûöì“þîû ö„þy˜ ö„þy˜ xMþéöìœ îÄî£yîû „þîûyîû ¢½þyî˜y ²Ì‰%þîû ~î‚ ö„þ˜Ú

3Ð ‹˜‡˜c ç ‹˜î^ùÝþöì̃ îû “þyîû“þöì›Äîû ö¦þïöì†y!œ„þ „þyîû’=öìœy î’Å̃ y „þöìîûyÐ

4Ð !ŸÒyMþéœ îœöì“þ !„þ öîyGþÚ ¦þyîûöì“þ öþ™öìÝþÆy îûy¢yëû!˜„þ !ŸöìÒîû ÷î!ŸÜTÄ ç î^ùÝþ˜ xyöìœy‰þ˜y „þîûÐ

!î¦þy† éôé …

öë ö„þyöì̃ y !“þ˜!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 5×3=15

5Ð ¦þyîû“þ#ëû ¦þy¡ìyîû ö×!’!î¦þy† „þîû ~î‚ vþzþ™ë%_« vþz”y£îû’ ¢£„þyöìîû î’Å̃ y ”yçÐ

6Ð „þëûœy ö„þ˜ xy•%!˜„þ !ŸöìÒîû ›%…Ä vþzþ™y”y˜ îöìœ !îöìî!‰þ“þ £ëû “þy îÄy…Äy „þîûÐ

7Ð ¢Á™” ¢‚îûÇþöì’îû þ™kþ!“þ=!œ !„þ !„þÚ

8Ð ¦þyîû“þ#ëû î˜¦)þ!›îû ö×!’!î¦þy† „þîû ~î‚ ¢‚öìÇþöìþ™ î’Å̃ y ”yçÐ

9Ð ¢y‚ßþ,ñ!“þ„þ ‹#îöì̃ îû çþ™îû ¦þy¡ìy xMþéöìœîû ²Ì¦þyî xyöìœy‰þ˜y „þîûÐ

10Ð ¢¤yç“þyœ ‹˜‹y!“þîû ¢›¢Äy ç ¦þ!î¡ìÄê xyöìœy‰þ˜y „þîûÐ

———————


